
1) A number was shared in the ratio 
1:5. The smaller share was 16. What 
was the total amount shared?

Answer: ____________

2) Increase 256 by 1/32

Answer: ____________

3) Increase 256 by 1/32

Answer: ____________

4)
144

2 /4

Answer: ____________

5) Round 3.894 to the nearest whole 
number.

Answer: ____________

6) Convert the following improper 
fraction 12/8 + 46/7 into a mixed 
number

Answer: ____________

7) Round 6.64 to 1 significant figures.

Answer: ____________

8) Decrease 20 by 95%

Answer: ____________

9)

A B = 59
Find the Angle at side A.

Answer: ____________

10) Simplify 9:6

Answer: ____________

Total: ___ / 10
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Answers:

1) 96 2) 264 3) 264 4) 12 5) 4 6) 63/28 7) 7

8) 1 9) 121 10) 3 : 2
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